00 O™ VHE 2\ H LLiL (¥) 81
00 0¥ CHERCEY L€:8 00 0E3 G H vT6l (B S1L
00 OE2 HWNGG H 07:8 (X)) 0€ 00 .08 gVt AU E] sv:oL (B) vl
00 0K} VHERYEE 67 () 67 00 .03 T EXNGEH 65:S (F) €L

00 0N MY ger (@) gz 00 0 \ L H Yoy (%) 6

00 O  \EEMGH  8e8L (W) sz 7T LB (Huwomxn w1 (@) 8

85 SLEM LY e 00:9 Ol T 00 .0EM vl H ST (8) Z
Ll vl WD Tl 5 6191 00 .08 WY H €Ly F) ¢
00 L0 L FE oze O gz 00 O VEETCEET 650 (W) ¥

00 0@  “VE&¥CH 600z () og 00 OE  VEHERGGH 80T (9 ¢
00 OB  VEHLTheEY o0 (%) e ¢ LW TEEEEE otsl o (H)

2% @ RRAEoYY Ry 48 22N 2AE0YY =y &0
H® 2 HY LR LR YNGR )

REOYXHY &
LAd/ WHBBIY (1 K L




